Pycckmin a3bik 101
Ypok Homep 4
19.10.03

4.2 Grammar: Second (and last!) conjugation of verbs. Pp. 140-141.

Study grammar, pp. 140-141. Note that 2" conjugation verbs may have
infinitive themes in three different vowels, but the present tense non-
terminal vowel is always n. You must learn the infinitive and the 3 plural
to know the conjugation.

To conjugate a verb, get the infinitive and the third plural. 2™ conj verbs
can have an inf. theme vowel in a, e, or . If the 3" pl ends in 5 or a, you
know it to be 2" conjugation. Remove the -at or -a1 of 3™ pl and get
thereby the stem of the verb. Then apply substitutive softening in the
singular only: change stemn, 6 > nn, 60, T> 4, g, > X, ¢ > wW. Keep p, n, H
and palatals as they are. Then add to; change to > y if the preceding
consonant is a husher. Example: nto6-at1. Stem is no6. Substitutive
softening no6n. Add to0. no6-nto.

-ISt

For 2" sg to 3rd pl do not apply substitutive softening. Add u and the
terminal endings.

Mobile stress is predictable from a theme vowel stress in the infinitive vs.
stem stress in the 3 pl: no6WTL - NHO65T, cMOTPETL - cMOTpST. In mobile
stress, the 1°' sg ending is stressed, but the stem is stressed in the other
five forms, just as in nucatb ~ nuwyT of 1°* conjugation.

Example: cnaTb - cnsiT 'sleep'. By 3™ pl you know it is 2" class. Get stem
cn-. Apply softening: cnn-. Add 0. Get s cnnto. For 2™ sg: cn-. Add nwb.
Get cnmwb. Another example. BUgeTsb - BMaaT. Get Bua-. Apply softening,
get Bmx-. Add t0. Change to to y after a husher. Get s By 'l see'. Stress
is on the stem in both inf and 3™ pl, so it stays there throughout.

Here are the verbs for this lesson:

no6UTb ~ nlO6aT love

BpeTb ~ BMpaT see

cMOTPETbL ~ cMOTpAT look at (+ acc; cMoTpeTb
TEeNeBU30p)




cnaTtb ~ CNAT

sleep (cf. Eng. hypnosis)

roBopUTb ~ rosopsT

speak, talk, say, tell; rosoputb No-
PYCCKM

Other vocab:

CJINLLIKOM too, too much

TUXO quietly

rPOMKO loudly

KOHEYHO of course

BCE CIbILIHO one can hear everything
MOXET ObITb perhaps
HECMMNATUYHbIN unpleasant

€é He Bce Nnbgar

not everyone likes it (lit: it (acc)
not all people (pl) like)

For Tuesday, Oct 21. Read text, p. 138-9. Write workbook AB T, E, X
and the following exercise for submission.

Figure out the forms, marking the stress with an acute accent:

1. 1love

2. we speak

3. they see

4. you (sg) sleep

5. you (pl) are looking

Find the following forms from verbs we are have not yet learned:

6. | answer — oTBETUTb ~ OTBETAT

7. he is studying — yulTb ~ YuaTt (5 changes to a after a husher)

8. we buy — kynUTtb ~ KYnaT

9. I buy

10. | bend — cknoHUTb ~ ckNOHAT

For Wednesday, Oct 22.

Write workbook 3, U, K, IT; ¥ and ® for submission. Audit tapes.

Please write answers to g's on the text, 138-9:




1. Noyemy Cawa pgymaeT [thinks], 4To Henb3s Urpatb rPOMKO?
2. 3HaeT nun gepywka Kpyrnosa, kto JleHa? ViHTepecHo, aa?
3. Cawa vrpaet Tonbko [only] knaccuky?

4. Yto 6abywka roBoput o [about] mame JleHbi? Moyemy?

5. Cawa TakTn4yHbIN? Kak Bbl 3HaeTe?

For Friday, Oct 24.

If you had trouble with Monday's quiz, try some practice with the genitive
of nouns. Recall: for masc and neuter, the ending is a/g, for all nouns in
nom -a, it is bi/n, for fems in b, it is n.

Examples of masc/neuter: non, nona, goMm, AoMa, My3emn, My3es,, y4nTenb,
yunTens, okHo, okHa, MMCbMO, NMUCbMa, 3afaHne, 3afaHuns.

Examples of -a nouns: koMHaTa, KOMHaTbl, anTeka, antekn, Cawa, Caluu,
HaTtanbs, Hatanbn, Hepens, Hepenu

Examples of fems in b: gBepb, ABepn, Mebenb, Mebenu, KPoBaTb, KPOBATH,
MaTb, MaTepW.

Practice: ¥ Hac HeT (nonka, MyX, CecTpa, Aeaylka, nndT, 3agaHne, KOLKa,
pyKa, Manbyuk, nana, CTaguoH, ynuua, kHura, amBaH, Mebesb, YpoK, My3en,

anekTpuk). See me or Alex for help!

See next handout for regular assignment for today.



